" NOTE: Dr jve Adapter shown

#f 454 MECHANICAL DR IVE ADAPTER ( HOR1ZON ) EFFECT IVE os of : 03/01/02

(Normal ly shipped with 1-direct rotation ond l-reverse rotation) Bracket to Belt Tensioner ---~

PART
060 10L - # 454 Mechanical adapter kit (HORIZON)

Existing crankshaft bo!t

06002-xx Hex Adopter
xx = Diameter size
74 theu 1.32 ~

(600 1-xx §454 Flex Shaft
x = length of shaft 2 58"

7/ - 20 Nut

51625 7/8- 18 Hex Nut

] 2requin:d =
' 7/ 16 Wosher / Lockwosher

with Direct Rotation

" 516xx 6" Standoff
Mercruiser engine

. s 8 72604 3/8 Washer . 72604 3/8 Washer - 7 extro suppl ied
NOTE : Dr 'i;‘f Adﬂptsrtsi‘?‘fn e @ 8 2 required (Use only it needed for clearance)
SENbeverse Spgln b * 73002 3/8 Lockwasher
. Jrequired
) e "
30000 AC 10R 10 D ive Adapter 500 LY ;‘U et 604 M J454 Adapler Plate

Direct or Reverse Rotation



